TrainType3
Summary.  The subject performs 15 blocks of trials, each composed of 50 trials.  The task is 6-alternative speeded choice RT.  The stimulus on any given trial is always selected randomly without replacement.  
The response keys are the 6 keys in order, 3 left and 3 right hand: <z x c m , .>.
Procedure and Stimuli.

We will specify 6 small image files for the 6 symbols.  Note: The mapping of digits onto responses is always direct (1->z / 2->x / 3->c / 4->m /  5-> / 6->.) 

You should ask the experimenter for initials, subject number, and whether the subject is in Subject_Condition 1 or 2 or 3.  Subject_Condition determines procedure and mappings (see below).
Remaining Events in Condition 1

Randomly select a mapping of the six symbols onto the six responses (M0).
Present Cond 1/2 Intro Instructions
For block = 1 to 10

For trial = 1 to 50



Select response (1…6)


Present digit for 100 msec (18 point font center of screen)


Present blank screen for 100 msec



Present the symbol that goes with that response based on M0 in center


End trial;


Show subject feedback on block (mean RT & % errors) and let them press to 


resume.


End block;

Present Cond 1 Task Switch Instructions
For block = 16 to 20


For trial = 1 to 50



Select response (1…6)



Present symbol that goes with that response based on M0


End trial;


Show subject feedback on block (mean RT & % errors) and let them press 

to resume.


End block;

 
Remaining Events in Condition 2

Randomly select a mapping of the six symbols onto the six responses (M0).
Present Cond 1/2 Intro Instructions 
For block = 1 to 10


For trial = 1 to 50



Select response (1…6)



Present digit for 100 msec (18 point font center of screen)



Present blank screen for 100 msec



Present symbol that goes with that response based on M0


End trial;


Show subject feedback on block (mean RT & % errors) and let them press 

to resume.


End block;

Present Cond 2 Task Switch Instructions
Randomly select a new mapping of the six symbols onto the six responses (M1).  M1 should have the property that no symbol is mapped onto the same response in M1 as it was in M0.
For block = 16 to 20


For trial = 1 to 50



Select response (1…6)



Present symbol that goes with that response based on M0


End trial;


Show subject feedback on block (mean RT & % errors) and let them press 

to resume.


End block;

Remaining Events in Condition 1

Randomly select a mapping of the six symbols onto the six responses (M0).
Present  Cond 3 Intro Instructions
For block = 1 to 15 


For trial = 1 to 50



Select response (1…6)



Present symbol that goes with that response based on M0


End trial;


Show subject feedback on block (mean RT & % errors) and let them press 

to resume.


End block;

____________________________________________________



Cond 1/2 Intro Instructions pages 1 & 2:


Cond 1 Task Switch Instructions




Cond 2 Task Switch Instructions


Cond 3 Instructions pages 1 - 3:



End of Block

At the end of the block, put up a sign that says REST PERIOD – PLEASE REST AT LEAST 10 SECONDS.  Also display the subject’s mean response time and number of errors from each of the previous blocks.  Make them rest 10 seconds before you put up PRESS ANY KEY WHEN YOU ARE READY TO RESUME.

Data Analysis

The raw data file should contain

<block
   trial   letter
subject_condition  RT  correct-response  actual-response intertrial-interval-after-response>

When you make the Sfile, blocks should be a factor.  So the Sfile should have these factors:

<subject   subject_condition   block   mean_RT   number-of-errors>

Do not include RTs below 300 msec or greater than 2000 msec in your computation for the S-File.
Welcome to our experiment.  We are looking at how fast you can respond to digits by pressing a button.  On every trial, you will see a digit 1,2,3,4,5 or 6.   There are six response keys marked on the lower row of the keyboard.  You should rest your ring, index, and middle fingers of your left and right hands comfortably on these response keys when the experiment begins.  Please keep them there whenever the experiment is running.





We will do 10 blocks of trials.  Each block will last just a few minutes.  At the end of a block, there will be a rest period.  During the rest periods, take a minute to relax, and then when you’re ready to resume, just press one of the response keys and the experiment will begin.  





Please try to respond as rapidly and accurately as possible.  If you have any questions, ask the experimenter now.  We appreciate your participation and hope you find this task at least somewhat entertaining.  Just concentrate on trying to do your best and we will be finished before you know it.





For the remaining five blocks of trials, we would like you to do something a bit different.  Now instead of digits, you will be responding to symbols.  There are six symbols, one mapped to each of the 6 response keys.  Here is the mapping from symbols to responses:














This mapping will always be present in the lower left hand corner of the screen, so you'll have a "cheat sheet" if you forget this mapping.





These symbols may look familiar to you.  In fact, you have seen them hundreds of times!  One of these symbols was presented right after each of the digits in the preceding trials.  Now there will be no digits--just the symbols.





Note that the response you will be making to the symbol is the same as the response you made whenever you saw that symbol during the first part of the experiment.  This may or may not help you.  Just do your best to keep responding as quickly and accurately as possible, even though the task may seem harder now than it was with the digits. 

















For the remaining five blocks of trials, we would like you to do something a bit different.  Now instead of digits, you will be responding to symbols.  There are six symbols, one mapped to each of the 6 response keys.  Here is the mapping from symbols to responses:














This mapping will always be present in the lower left hand corner of the screen, so you'll have a "cheat sheet" if you forget this mapping.





These symbols may look familiar to you.  In fact, you have seen them hundreds of times!  One of these symbols was presented right after each of the digits in the preceding trials.  Now there will be no digits--just the symbols.





Note that the response you will be making to the symbol is not the same as the response you made whenever you saw that symbol during the first part of the experiment.  Just do your best to keep responding as quickly and accurately as possible, even though the task may seem harder now than it was with the digits. 

















Welcome to our experiment.  We are looking at how fast you can respond to symbols by pressing a button.  On every trial, you will see a symbol.   There are six response keys marked on the lower row of the keyboard.  You should rest your ring, index, and middle fingers of your left and right hands comfortably on these response keys when the experiment begins.  Please keep them there whenever the experiment is running.





We will do 15 blocks of trials.  Each block will last just a few minutes.  At the end of a block, there will be a rest period.  During the rest periods, take a minute to relax, and then when you’re ready to resume, just press one of the response keys and the experiment will begin.  





Please try to respond as rapidly and accurately as possible.  If you have any questions, ask the experimenter now.  We appreciate your participation and hope you find this task at least somewhat entertaining.  Just concentrate on trying to do your best and we will be finished before you know it.








There are six symbols, one mapped to each of the 6 response keys.  Here is the mapping from symbols to responses:














This mapping will always be present in the lower left hand corner of the screen, so you'll have a "cheat sheet" if you forget this mapping.








